The figures in the margin indicate full marks

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
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(a) The ‘official doctrine’ is the theory that
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(i) mind and body are the same thing
72 TIF T AR

(ii) mind and body are the separate entities

73, S W o1 *JIAE el

(iii) other mind doesn’t exist
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( Choos¢ the correct alternative )

(wm ol Afb Sfepear )

( Turn Qver )



(b)

(c)

(d)

(e)
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(2)

Analytic philosophy is also called linguistic
philosophy.

( Write True or False )

Reggemee wiae oiiie i Ifere omr = |

(301 1 fig foe )
The simple facts are called by
Russell . .

( Fill in the blank )

MR A CUHRE 3 CfeE
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What 1is
Russell?

a proposition, according to

0= 0O 54 I I I = 2

“Language pictures reality.”” Who said
this?
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( Continued )

(3)

(fl Name the book of Wittgenstein.

TROsfzR I arwseE A 7

(g) According to Moore, the existence of the
objects in the external world

T[E WCe A Gores T84 ey
(1) depends upon human perception
dorFq 7o fTSq I

(ii) does human

perception

not depend upon

Aorsd e/ F$q a9
(iii) is known through perception
Horwdq ANl gl I/
is an inference

(iv)

GF S

( Choose the correct alternative )
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2. Answer briefly the following questions :

(4)

2x4=8
TeTe Rl T Y Teq i
(a) Write the name of three important
philosophers  responsible  for  the

(b)

(c)

(d)
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development of analytic movement in
Western philosophy.

Arore) R Roraee afee =@ shim
ceran feferam ggeye wfferes - fors o

Which basic statement of idealism was
rejected by Moore?

SRAME (IO I35 T CF A&7 PR 2
What is a ‘state of affair’, according to

Wittgenstein?

TRB(AZABIZA 0o 61 212 A & 2

What does Ryle mean by ‘the dogma of
ghost in a machine’?

AR WS T fowde go° A 52

( Continued )

(S

3. Answer any three of the following questions :

5x3=15

e il ez R e fofem Tex fo

(a)

(b)

(c)

(d)
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Discuss briefly the kinds of proposition
recognized by Russell in his atomism.
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Give two examples put forward by Ryle to
explain the concept of ‘category mistake’.

‘eiNere TR’ AiReE frn w1 S o |

Discuss briefly about Wittgenstein’s view o1
‘forms of life’.
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Is Moore consistent in refuting idealism?”
Give your comment.
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( Turn Over )




